goboudg oobugoodn  2000.6.7(0)

—15

Vp(l,-2) = (-3,-3).

(2) (2,-1) 0000000000 —/3/5. (0,3)0000000000 —3. 00
000 (0,3)000000000000000000

(3)

V| = /(y — 1)2 + (z + 2y)?
0000|Ve|=0000 2,y0000000000000000000y=1,z=-2
ooooooo

31 (1) .y
vr=(50r)

2 o
v-(7) -7

(3) ODODOODOOUOoOOOoO

V x (Vr)=0.

[4] (1) OO00O0O0O00

r"(t) = (—a*sinnt, 72 cost, —2c).

0
l7"(t)] = V7t + 42 < 277
gg
2
c < v3m
- 2
goog

(2) c=100000 »(5)00000

(0,1, —25).



(3) 000000 »() 00000000 »()000000

r(t) = r(0) +/0 v(t)dt

00000r0)=(0,1,-2500000000 ()0 2000

51 %

2 * 2
gboboddd-000 oo obbboobobobbuooooo

_ log51
2

t

gogd



